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Remainders as decimals
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TARGET  To practice written methods for division giving remainders as

decimals.
Example 6020 = 8 7525 4497 <12 37475
816012700 1274 48957.70%
Write the answer only giving the Give the remainder as a
remainder as: decimal. decimal rounded to three
2) afraction Q 1764 decimal places where
b) a decimal ol necessary.
50981 8
37+ 10 4744 N (]
(1] (] © 2694+5 @ 28373
Q25-2 @8- © 3674+8 © 32400+ 7
Q5+s @32 @ 7213+ 10 @ 96475+ 12
OQ29:4 @s7+6 0O 9% <12 @ 529671
@768 ®n+s @ w75 0 w652+ 9
Q-5 @8 © 57268 @ 34765+ 14
Q 47+ 10 © 57788+ 32
Work out. Give the remainder as @ 2884 © 88750 19
a decimal. @ 8372+ 16 @ 71676 + 45
®77+2 ® 226:4 @® 6440+ 25 @ 0929+ 17
@na+s @33:10 @ 7841724
@ Alorry makes the
D@i61+10 €@ 54912 same journey on five @ Vvanessa eams
. days. Altogether it £35217 per year.
Q-4 @734 travels 2847 km, How much does she
@92 @ass:s How long i the earn each month?
Ll @ Anisland has an area
©6+s @m0 @ Eight identical of 70000 km?. One
. . containers have third of the island is
@ Craham saves one tenth of a total weight of rain forest. What is
his pay. b 3658 kg. What does the area of the rain
LDCIIEEEE, each container forest on the island?
How much does he save? e
o @ Afamily uses 72000
€5 Four identical barrels have a @® Four people share a litres of water in 52
total capacity of 114 ltres. prize of £2739. weeks. What is their
What i the capacity of one How much do they mean weekly water

barrel? receive each? usage?




